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https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. Find that the point (4,0) lie in which

quadrant?

o Watch Video Solution

2. Find that the point ( — 2,7) lie in which

quadrant?

o Watch Video Solution



https://dl.doubtnut.com/l/_Mrxqnt7GoXk7
https://dl.doubtnut.com/l/_MxRz1fXkHwUY

3. Find the point (11, — 3) lie in which

quadrant?

o Watch Video Solution

4. Find that the point ( — 6, 2) lie in which

quadrant?

o Watch Video Solution



https://dl.doubtnut.com/l/_hy2MvMNLA44y
https://dl.doubtnut.com/l/_pKKrpSh9TNsI
https://dl.doubtnut.com/l/_dEIyfjaJ35uA

1. Find the coordinates of a point A, where AB
is the diameter of a circle whose centre is (2,

-3) and B is (1, 4).

° Watch Video Solution

2.The form of a histogram is

A. rectangular

B. Square

C. Polygon type


https://dl.doubtnut.com/l/_dEIyfjaJ35uA
https://dl.doubtnut.com/l/_cfcdpomAHGiS

D. None of these

Answer:

o Watch Video Solution

3. The frequency of the first and the last end-

points of a frequency polygon is

A.O

B.1

C.2


https://dl.doubtnut.com/l/_cfcdpomAHGiS
https://dl.doubtnut.com/l/_azVY1InNc7M8

D. None of these

Answer:

o Watch Video Solution

4. A and B throw a pair of dice. If A throws 9,

find B’s chance of throwing a higher number.

° Watch Video Solution

5. What is histogram ?


https://dl.doubtnut.com/l/_azVY1InNc7M8
https://dl.doubtnut.com/l/_4qDFMan1li8y
https://dl.doubtnut.com/l/_zi0vwKipxmlf

° Watch Video Solution

6. What is frequency polygon ?

° Watch Video Solution

7. Find that the point (4, 3) lie in which

quadrant?

o Watch Video Solution



https://dl.doubtnut.com/l/_zi0vwKipxmlf
https://dl.doubtnut.com/l/_hMEAV6kPdxMB
https://dl.doubtnut.com/l/_p4huLIZ2QI3i

8. Find that the point ( — 8, — 4) lie in which

quadrant?

o Watch Video Solution

9. Find that the point ( — 10, 10) lie in which

quadrant?

o Watch Video Solution



https://dl.doubtnut.com/l/_ToaJvKsdoMsj
https://dl.doubtnut.com/l/_iyl6otaqW5NS

10. Find that the point (5, — 7) lie in which

quadrant?

o Watch Video Solution

1. Find that the point ( — 11, —7) lie in

which quadrant?

o Watch Video Solution



https://dl.doubtnut.com/l/_PZBUmbHYbvaq
https://dl.doubtnut.com/l/_yHCLVtpJCbfJ

12. Find solution by cross multiplication
method

3r —4y = 1,4z — 3y = 6.

o Watch Video Solution

13. Find solution by cross multiplication
method

x+y=2bx—y=2a.

o Watch Video Solution



https://dl.doubtnut.com/l/_rRUY8eyKa70Z
https://dl.doubtnut.com/l/_uxzSotf5cu8d
https://dl.doubtnut.com/l/_8LYiaDjc9RQ2

14. Find solution by cross multiplication
method

2c +y =2, x — 3y = 5.

o Watch Video Solution

15. Find solution by cross multiplication
method

x —2y=3,5¢ + 4y = 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_8LYiaDjc9RQ2
https://dl.doubtnut.com/l/_lLO6102KTnxV
https://dl.doubtnut.com/l/_yfuHMUvL14vm

16. Find solution by cross multiplication
method

de —y=95,3x +y=1"1.

o Watch Video Solution



https://dl.doubtnut.com/l/_yfuHMUvL14vm

